FE8® DOX

SCUPPER GEAR

PARTS LIST
Tools needed for assembly: 1 Stainless Steel Frame -1
« 7/16 wrench 2. 1/4" bolt -4
« 5/32 allen wrench 3.1/4" lock nut -4

4.1/4" Wire Gate Lock -2
5. KIWI Tire -2

Step 1

Fasten the 1/4” bolt to the 1/4" lock
nut on the inside hole, on each side
of the stainless frame

Step 2

Mount the KIWI wheel and fasten the outer 1/4”
bolt to the 1/4" lock washer, on each side of the
stainless frame.

When in use with your kayak, pass the Wire Gate Pin
through the pin hole to secure the kayak to the
Boonedox Scupper Gear.




